TAP 128- 1: Using a capacitor to lift a weight

Requirements

· 10 000 F capacitor   (or larger if possible) working voltage > 6V

· small motor 3 – 6 V is ideal

· 4 ( 1.5 V cells (or dc supply)

· small weights (typically 20 g but it will depend on the motor)

· length of thin cotton thread

· leads





Tie a small mass to the motor spindle with a length of cotton so that the mass is just above the floor. 

Find the voltage at which the motor is just able to lift the weight (this is usually well below the nominal voltage for the motor).

Using this voltage, charge the capacitor and then discharge it through the motor.  The weight should be raised by a few centimetres.  Increase the voltage used and compare the distance raised at low and high voltages.

[The efficiency of the motor is usually quite small (~ 10%) so quantitative work is best avoided.]
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